AP Calculus ab 2nd Semester d (f(x)) Safa dx  $\int_{0}^{a} f(x) dx$ 

4.5 Integration by Subotitution Antidifferentiation of Composite Functions: Let "g" be a function, with a range of "I"; "I" is also a tunction which is continuous on "I" If "g" is differentiable on it's domain & "F" is an antiderivative of "f" on "I" then: f(g(x))g'(x) dx = F(g(x)) + Cf(u) du = F(u) + CRecogizing the f(g(x))g'(x) pattern: Ex 1 ((x2+1)2(2x) dx ~ u= x2+1 ~ du= 2x dx ~  $\int (x^2 + 1)^2 (2x) dx - \nu \int u^2 du \rightarrow$  $=\frac{u^3}{3}+C\to\frac{(x^2+1)^3}{3}+C$ u = 5x du = 5 dxE22: 5 500 5x 6x

- F COSU du - Sinu + C - F - Sin 5x + C

E23: Sx(x2+1)2 dx ~

 $\frac{1}{2} \left| \chi (\chi^2 + 1)^2 (2) d\chi \pi \frac{1}{2} \int u^2 du = \frac{1}{2} \left( \frac{u^3}{2} \right) + C \pi \left[ \frac{(\chi^2 + 1)^3}{6} + 3 \right]$ 

 $\frac{2x^{4}}{2} \int \sqrt{2x-1} \, dx \rightarrow u = 2x-1 \quad du = 2x-1 \quad du$ 

Ex 5 (3-x4) 6 (4x3) dx = u=3-x4 du=-4x3 dx  $-1\int_{u}^{2}du = -1\left(\frac{u^{\frac{7}{7}}}{7}\right) + C > -\frac{u^{\frac{7}{7}}}{7} + C > \left|\frac{-\left(3-\frac{u^{\frac{4}{7}}}{7}\right)^{\frac{7}{7}}}{7} + C\right|$ 

u=x2+1 du=Zxdx

Man up died review Jan 14 2025

De serview Jan 14 2025  $A = \frac{1}{\sqrt{\lambda}(1+\sqrt{\lambda})^2} dx - \alpha = 1+\sqrt{\lambda} dx$  $\frac{z \int \frac{1}{u^{2}} du}{z = 1} \frac{u - km + s}{z = 1} \frac{x = 9}{u = 1 + \sqrt{9^{10}} + 3 = 9}$   $2 \int_{2}^{4} \frac{u^{-2}}{u^{-2}} du \rightarrow 2 \left[ \frac{u'}{-1} \right]_{2}^{4} \rightarrow -2 \left[ \frac{i}{u} \right]_{2}^{4}$ -2[4-2]--(1)--(1)  $(2) \int_{1}^{5} \frac{\chi}{\sqrt{2} - 1^{2}} d\chi = \frac{u = 2x - 1}{\sqrt{2}} \frac{du}{dx} = 2 = \frac{2u = 2 - 1}{\sqrt{2}}$  $\chi = \frac{1+\alpha}{Z} - \frac{1}{z} \int_{1}^{S} \frac{x}{\sqrt{2x-1}} dx(z)$ x = 1 x = 5 z(1) - 1 = 1 z(5) - 1 = 9 $\frac{1}{2}\int_{-1}^{4}\frac{(a+1)}{2}dn \rightarrow \frac{1}{4}\int_{-1}^{4}\frac{(a+1)}{a^{\prime}2}dn$  $= \frac{1}{4} \int_{1}^{9} \left( u'_{1} + \overline{u'_{2}} \right) du \rightarrow \frac{1}{4} \left[ \frac{2u^{3/2}}{3} + \frac{2\sqrt{n}}{3} \right]^{9}$  $- \frac{1}{4} \left[ \left( \frac{54}{3} + 6 \right) - \left( \frac{2}{3} + 2 \right) \right] - \frac{1}{4} \left( \frac{72}{3} - \frac{8}{3} \right) = \frac{1}{4} \left( \frac{64}{3} \right)$ Review of Final from December Sin(-u) = -sin(u)

Sin (-u) = -sin(u)

learn to find limits in functions using conjugates

4.2 Areas

Warm up: 
$$f(x) = \frac{1}{2}$$
,

(1×1) + (1×1/2) + (1×1/4)

 $A = \int_{1}^{3} (1 + 1/4) dx$ 

[1,5]

 $A = \int_{1}^{3} \left(\frac{1}{\pi}\right) dx$  $\Rightarrow = 1 (f(z) + f(\bar{s}) + f(4) + f(5))$ 7 1+3+1= 1+13  $=\frac{1}{2} + \frac{1}{3} + \frac{1}{4} + \frac{1}{5}$   $=\frac{77}{60}$  /.283 7 + 4 2 + 12 (25) (conscribed) = actual area = upper sum (conscribed) What is a sigma notation?

sum of  $\sum expression in tour of i$ 

I The sum of n terms az, az, az

 $\sum a_i = a_{1,a_2,a_3,\cdots a_n}$ 

A The sum
$$\sum_{i=1}^{n} a_i =$$

i = under of summation Ex 1:  $a \sum i = 1 + 2 + 3 + 4 + 5 + 6 = 21$ 

 $(5) \sum_{i=1}^{3} (z+i) = (6+1) + (1+1) + (2+1) + (3+1) + (4+1) + (5+1) = 21$ 

Jan 16

@ 2.083

6 1.283

mid point: 1.575 right: 1.283

, an is written

$$\begin{array}{ll}
\left(\frac{1}{2}\right) \sum_{j=1}^{S} \frac{1}{\sqrt{j}} &= \frac{1}{1+\sqrt{2}} + \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{4}} + \frac{1}{\sqrt{5}} = 3.232 \\
& \frac{1}{2} \sum_{j=1}^{N} ka_{j} = k \sum_{j=1}^{N} a_{j} \\
& \sum_{i=1}^{N} \left(a_{i} + b_{i}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} b_{j} \\
& \sum_{i=1}^{N} \left(a_{i} + b_{i}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} b_{j} \\
& \sum_{i=1}^{N} \left(a_{i} + b_{i}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} b_{j} \\
& \sum_{j=1}^{N} \left(a_{i} + b_{j}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} b_{j} \\
& \sum_{j=1}^{N} \left(a_{i} + b_{j}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} b_{j} \\
& \sum_{j=1}^{N} \left(a_{i} + b_{j}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} a_{j} + \sum_{j=1}^{N} a_{j} \\
& \sum_{j=1}^{N} \left(a_{i} + b_{j}\right) = \sum_{j=1}^{N} a_{j} + \sum_{j=1$$

 $9 = 3^{2} + 4^{2} + 5^{2} + 6^{2} + 7^{2} = 135$ 

$$\frac{E_{X}Z:}{\sum_{i=1}^{n}} \frac{n}{n^{2}} = \frac{i+1}{n^{2}} \int_{i=1}^{n} \frac{i+$$

Upper Sums & Lower Juns The sum of areas of the inscribed rectangles is called a lower sum of the areas of the circumswibed rectangles is called an upper sum Lower sum =  $5(n) = \sum_{i=1}^{n} f(m_i) \Delta x$ Upper sum =  $S(n) = \sum_{i=1}^{n} f(M_i) \Delta x$  $m_i = a + (i-1) \Delta x$   $M_i = a + i \Delta \lambda$  $\Delta x = \frac{b-a}{a}$ Ex3: Find upper & lower owns for region bounded by  $f(x)=x^2$  & the x-axis between [0,2] Upper sum =  $\sum_{i=1}^{n} f(M_i) \Delta x$  $Ax = \frac{z-0}{h}$   $= \left(\frac{z}{h}\right)$   $M_{i} = 0 + i\left(\frac{z}{h}\right)$   $= \left(\frac{z}{h}\right)$  $\sum_{i=1}^{n} f\left(\frac{z_i}{n}\right) = \sum_{i=1}^{n} \left(\frac{z_i}{n}\right)^2$  $=\frac{8}{8}\left(\frac{\mathcal{M}(n+1)(2n+1)}{8}\right) \rightarrow \frac{4(n+1)(2n+1)}{3n^2}$ 

 $= \frac{M^{3}}{8n^{2}} \left( \frac{8}{8n^{2}} \right) \frac{3n^{2}}{3n^{2}} \left( \frac{8n^{2}+12n+4}{3n^{2}} \right) \frac{8n^{2}+12n+4}{3n^{2}} \frac{1}{3n^{2}} \frac{1}{3n^{2$ 

Lower Sum 
$$\begin{bmatrix} C_{1}^{2} \\ a_{1}^{2} \end{bmatrix}$$
  $\begin{cases} f(x) = x^{2} \end{cases}$ 

bower sum  $= \sum_{i=1}^{n} f(m_{i}) \Delta x$ 
 $= \sum_{i=1}^{n} f(\frac{z(i-1)}{n}) \frac{z}{n}$ 
 $= \sum_{i=1}^{n} f(\frac{z(i-1)}{n}) \frac{z}{n}$ 
 $= \sum_{i=1}^{n} \frac{z(i-1)}{n} \frac{z}{n}$ 
 $= \sum_{i=1}^{n} \frac{z}{n} \frac{z}{n} \frac{z}{n}$ 

 $\lim_{n\to\infty} (S_n) = \frac{8}{3}$ 

4.6 Trapozoidal Rule

Learn the trapszoidal Rule: Find the area under the curve using 4 trapezoids

$$f(x) = x^{2} + 1; \quad [0, 2]$$

$$4 = \int_{0}^{2} f(x^{2} + 1) dx$$

f(0)=1  $f(\frac{1}{2})=\frac{5}{4}$   $f(1)=\frac{7}{4}$   $f(\frac{3}{2})=\frac{13}{4}$ 

 $\rightarrow \frac{1}{4}(19) \rightarrow \left(\frac{19}{4}\right)$ 

The Trapszoidal Rule:

f(z) = 5

- |+ (\frac{1}{2})(f(\frac{1}{2})+f(\pi))

 $+(f(\frac{3}{2}z)+f(z))]$ 

 $\int_{a}^{6} f(x) dx \approx \frac{6-a}{2n} \left[ f(x_{0}) + 2f(x_{1}) + 2f(x_{1}) + \cdots + f(x_{n}) \right]$ As "n" approaches  $\infty$ , left side approaches  $\int_{a}^{6} f(x) dx$ 

1+(2(2))(f(3/2)+f(2))~

4 (f(0)+f(\frac{1}{2})+(f(\frac{1}{2})+f(1))+(f(\frac{1}{2})+f(\frac{1}{2}))

 $A_{-} = \frac{1}{2}h(b_{1}+b_{2}) + \frac{1}{2}(\frac{1}{2})(f(\frac{1}{2})+f(\frac{1}{2}))$   $A_{\times} (f_{left} + f_{right}) + \frac{1}{2}(\frac{1}{2})(f(1)+f(\frac{3}{2}))$ 

 $-\frac{1}{4}(f(0) + 2f(\frac{1}{2}) + 2f(1) + 2f(\frac{3}{2}) + f(2))$ 

- 1 (1+Z (3/4)+2(Z)+Z(13/4)+5)

 $\frac{1}{2} \left( \frac{1}{2} \right) \left( f(0) + f(\frac{1}{2}) \right) \rightarrow \left( \frac{1}{4} \right) \left( \frac{1}{2} \right)^2 + 1 \right)$ 

Always Remember: 1. For con only use the tropozoidal rule if f(x) is given 2. All Insperoides must be the same width. If these nules oven't met, use simple geometry:  $A_{trap} = \frac{1}{2} A \times (b_1 + b_2)$ 

$$A_{trap} = \frac{1}{2} 4 \times (b_1 + b_2)$$

$$A_{trap} = \frac{1}{2} 4 \times (b_1 + b_2)$$

$$V_{sin} = \frac{1}{2} 4 \times (b_1 + b_2)$$

$$\int_{0}^{\pi} \sin x \, dx \approx \frac{\pi - 0}{8} \left[ f(0) + 2f(\frac{\pi}{2}) + 2f(\frac{3\pi}{4}) + f(\pi) \right]$$

$$\frac{\pi}{8} \left[ 0 + \sqrt{2} + \frac{2}{3} + \sqrt{2} + 0 \right]$$

$$\frac{\pi}{8} \left[ 2 + 2\sqrt{2} \right] \approx 1.896$$

$$\int_{0}^{\pi} \sin x \, dx \approx \frac{\pi - 0}{8} \left[ f(0) + 2f(\frac{\pi}{2}) + 2f(\frac{3\pi}{4}) + f(\pi) \right]$$

$$\frac{\pi}{8} \left[ 0 + \sqrt{2} + 2 + \sqrt{2} + 0 \right]$$

$$\frac{\pi}{4} \left[ \frac{3\pi}{4} + \frac{\pi}{4} + \frac{3\pi}{4} + \frac{\pi}{4} +$$

 $\rightarrow \frac{1}{n^2} \left( \sum_{i=1}^{n} i^2 + \sum_{i=1}^{n} 1 \right) \rightarrow \frac{1}{n^3} \left( \frac{h(n+1)(2n+1)}{6} \right) + \frac{1}{1}$ 

 $\frac{1}{n^{2}}\left(\frac{(n+1)(2n+1)}{6}+\frac{1}{1}\right) \Rightarrow \frac{(n+1)(2n+1)+6}{6n^{2}} \Rightarrow \frac{2n^{2}+3n+7}{6n^{2}}$ 

Ex Z: / Ix dx (use upper sum): lim (S(n))

 $-\nu f(x) = 2x \qquad \Delta x = \frac{3}{n} \qquad \mathcal{M}_{i} = -2 + i\alpha x - \nu - 2 + \frac{3i}{n}$ 

 $-\sum_{i=1}^{n} f(M_i) \Delta x = \sum_{i=1}^{n} f(-2 + \frac{3i}{n}) \frac{3}{n}$ 

 $\frac{3}{n} \sum_{i=1}^{\infty} \left( z(-z + \frac{3i}{n}) \right) - \frac{3}{n} \left( \sum_{i=1}^{n} (-4) + \frac{6}{n} \sum_{i=1}^{n} \frac{1}{2} \right)$ 

 $- > \frac{3}{n} \left( -4n + \frac{6}{n} \left( \frac{n(n+1)}{2} \right) \right) - \frac{3}{n} \left( -4n + 3n + 3 \right)$ 

 $\frac{-12n+9n+9}{n} \rightarrow \lim_{n\to\infty} \frac{-3n+9}{n} \rightarrow \boxed{[-3]}$ 

Sizx dx → [x²] - x (17-z)²) - 1-4 - -3

4P Question (nows) 0 1 R(t) (1:tos/hr) 1340 1190 .6. 3 950 740 on 0 = t = 8 (t in hows) W(t)=2000e-f2/20 Pumped into tank (l4/hm), R(t) = water gremoved, decreasing  $R'(2) = R(3) - R(1) - (-120 l/hn^2)$ 

@ t=0, 50,000 l in tank a Estimate R'(2). b) left RM Sum, 4 postitions; is over- or underestimate!

t See the decreasing function

80501, ovorestimate as R(t) is decreasing on 0 to 8, and a left sun on a decreasing function yields an overestimation

 $\int_0^1 R(4) dt = (1-0)f(0) + (3-1)f(1) + (6-3)f(3)$ 

= 1340+2(1190)+3(950)+2(740) =8050 (decreasing, ovorcest.)

+(8-6)f(6)

Chapter 4 Dais Review Points to study & Integrating toing funco. 4 ADefinite & indefinite Jippee! A Integrals using "a substitution A Finding hims Cinfinity of sums A Second fundamental theorem of Colc (10) J-secxtanx dx - n=secx dn=secxtonx dx -1/ Ju du = -1/ 1/2 du = -1/2 1/2]+C = -2/8ecx +C  $\frac{\partial}{\partial x} \int \frac{2x}{\sqrt{x+1}} dx = \frac{x}{2} = \frac{x}{2} = \frac{x}{2} = \frac{1}{2}$ = 25 x dx = 25 (u/2 -1/u) du -> 2 (213/2 - 21/2)+C = 4(xH)/2+C 6  $s(n) = \sum_{i=1}^{n} (1 + \frac{i}{n})^{2} (\frac{z}{n})$  find  $lim. of s(n) as <math>n \to \infty$   $= s(n) = \sum_{i=1}^{n} f(m_{i}) Ax = s(n) = \sum_{i=1}^{n} (1 + \frac{i}{n})^{2} (\frac{z}{n})$  $\rightarrow \frac{2}{n} \sum_{i=1}^{n} \left( 1 + \frac{2i}{n} + \frac{2i}{n^2} \right) \rightarrow \frac{2}{n} \left( \sum_{i=1}^{n} 1 + \frac{2}{n^2} \sum_{i=1}^{n} i + \frac{1}{n^2} \sum_{i=1}^{n} i^2 \right)$  $= \frac{Z}{n} \left( \frac{n \cdot 6n^{3} Z}{c} \left( \frac{n \cdot (n+1)}{z} \right) + \frac{1}{n^{2}} \left( \frac{n \cdot (n+1)(2n+1)}{c} \right) \right)$   $= \frac{1}{2} \left( \frac{6n^{2} + 6n^{2} + 6n + 2n^{2} + 3n + 1}{36n} \right)$   $= \frac{1}{2} \left( \frac{6n^{2} + 6n^{2} + 6n + 2n^{2} + 3n + 1}{36n} \right)$ (14)  $\frac{14n^2+9n+1}{3n^2} \rightarrow n \rightarrow \infty$   $\frac{14}{3}$ 

5.1 Nohand hogs: Differentiation

In 
$$x = (log_e)x$$

Proporties of  $ln$ :

I Domain is  $(0, \infty)$  & narge is  $(-\infty, \infty)$ 

2. Function is increasing, continuous, & one to one

3. Concave downword

 $|y = log_b x + b^y = x$ 

More proporties:

 $|n = log_m x - m^n = u|$ 

2.  $(n(ab) = ln a + ln b - because a mar = a^{m+n}$ 

3.  $ln = a + ln a$ 

3-ln 
$$a'' = n \ln a$$

4.  $\ln \left(\frac{a}{b}\right) = \ln a - \ln b$  -> because  $\frac{a^m}{a^n} = a^{m-n}$ 

Ex 1:

$$\frac{E \times 1}{a}$$
 $a \cdot \ln(\frac{10}{a}) = \ln(10 - \ln(9))$ 

~ 2 /n(x2+3) - (/nx+ 1/2 /n(x2+1))

~ Z/n(x2+3)-hx-=/n(x2+1)

$$\ln(\frac{\pi}{4}) = \ln(10) - \ln(9)$$

$$\ln\sqrt{3} \times +2 = \ln(3 \times +2)$$

$$\ln\frac{6 \times}{5} = \ln 6 \times -\ln 5$$

b. 
$$\ln \sqrt{3x+2} - \nu \ln (3x+2)^2 = \frac{1}{2} \ln (3x+2)$$
  
C.  $\ln \frac{6x}{5} = \ln 6x - \ln 5 = \ln 6 + \ln x - \ln 5$   
d.  $\ln \frac{(x^2+3)^2}{x(3x^2+1)} = \ln (x^2+3)^2 - \ln (x(3x^2+1))$ 

A. 
$$\ln 2 = 0.693$$
b.  $\ln 32 = 3.466$ 
c.  $\ln 0.1 = -2.303$ 

Definition of In functions

In  $x = \int_{-1}^{x} \frac{1}{t} dt$ ,  $x > 0$ 

Definition of e

Ine =  $\int_{1}^{e} \frac{1}{t} dt = I$ 

Desivative

 $\frac{1}{dx}(\ln x) = \frac{1}{x}$ 
 $\frac{1}{x} dx = \ln |x| + C$ 
 $\frac{d}{dx}(\ln u) = 1. du = \frac{u}{u}$ 
 $\int_{-1}^{u} du = \ln |u| + C$ 

Ex 2:

$$\frac{G_{x} 3:}{a \cdot \frac{d}{d\pi} \left[ \ln(2\pi) \right] = \frac{2}{2\pi} \rightarrow \frac{d}{\pi} \left[ \ln(2\pi) \right] = \frac{2}{2\pi}$$

$$b \cdot \frac{d}{d\pi} \left[ \ln(2\pi) \right] = \frac{2\pi}{2\pi+1}$$

b. 
$$\frac{d}{dx} \left[ \ln(x^2 + 1) \right] = \frac{\pi^2 + 1}{\pi^2 + 1}$$

c.  $\frac{d}{dx} \left[ \times \ln x \right] \Rightarrow \frac{\pi}{\pi} \left( \frac{1}{\pi} \right) + \frac{1}{\ln x} = \frac{1}{\pi} \left( \frac{1}{\ln x} \right)^2$ 

d.  $\frac{d}{dx} \left[ (\ln x)^3 \right] \approx 3 (\ln x)^2 \left( \frac{1}{\pi} \right) = \frac{3 (\ln x)^2}{\pi} \quad \text{or} \quad \frac{3}{\pi} (\ln x)^2$ 

Ex4: find 
$$f'(x)$$
 $f(x) = \ln \sqrt{x+1}$ 
 $\Rightarrow \frac{1}{2} \ln (x+1) \Rightarrow f'(x) = \frac{1}{2} \frac{1}{(x+1)} = \frac{1}{2(x+1)}$ 

Ex5:

 $f(x) = \ln \sqrt{2x^{2}-1} \Rightarrow \ln(x(x^{2}+1)^{2}) - \frac{1}{2}\ln(2x^{2}-1)$ 
 $\Rightarrow f'(x) = \frac{1}{x} + \frac{2}{(\frac{x}{x^{2}+1})} - \frac{1}{2}(\frac{6x^{2}}{2x^{2}-1})$ 
 $\Rightarrow f'(x) = \frac{1}{x} + \frac{2}{(\frac{x}{x^{2}+1})} - \frac{1}{2}(\frac{6x^{2}}{2x^{2}-1})$ 
 $\Rightarrow \frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \frac{3}{2} = \frac{1}{2} = \frac{3}{2} = \frac{1}{2} = \frac{3}{2} = \frac{3}{$ 

 $\frac{4x}{1+x^{2}} - \frac{2}{4x-1} = \frac{16x^{2}-4x}{4x-1+4x^{2}-x} - \frac{2+2x^{2}}{4x-1+4x^{2}-x}$   $= \frac{14x^{2}-4x-2}{4x^{2}-4x-1} = g'(x)$   $\Rightarrow My special$ 

sin\_

5.2 Notwood Log Integration
Use log or in differentiation when base 2 expenser

3re both a function of "x"  $\frac{dy}{dx}\left(y=x^{2-1}\right)-r$ Franz Steps: y= x On next 1. Take In of both sides lay= lnx 2. Use a property to simplify the right side lay= (2-1) lax 3 Differentiate both sides with negrect to x  $\frac{d}{dx}(\ln y) = \frac{d}{dx}((x-1)\ln x)$ 9 = (x-1)(x)+(1)(lnx))y 4. Tolote y' Multiply both sides by y to get y' by itself  $y'=y(\frac{x}{\pi}+\ln x)$  $y=x^{-1}\left(\frac{x-1}{x}+\ln x\right)$ 5. Substitute y with given Theorem 5.5. Lay Rule for Integration Let v be a differentiable function of "x".  $I \int_{\mathcal{R}} dx = |n| |x| + C$ Always add abs()  $Z = \int \frac{1}{u} du = \ln |u| + C$ Ex 1:  $\int \frac{2}{x} dx = 2 \int \frac{1}{x} dx = 2 \left( \ln x \right) + C$ Ex 2:  $\int \frac{1}{4x} dx (4) = 4x - 1 \quad dx = 4 dx$ 

=> 4 () -u du) -> 4 ln/u/ +C

Ex3: Find the arrea of y=x+1, bounded by x oxis  $\frac{1}{2}\int_{0}^{13}\frac{x}{x^{2}+1} dx dx$ x = 0 U. =. 1. z=3. -= = [ [ /u ] ] " u=10.  $-\frac{1}{2} \left[ \ln 10 - \ln 1 \right] - \left( \frac{1}{2} \ln (10) \right) = Anea$ Ex 4: (a) \( \frac{3\pi +1}{\pi^3 + \pi} \) dx = \( \pi \) \( \pi - Sudu + lulul +c - lulus +x/+c B) Seed dx n=tonx dn = sec=x dx -> Judn > la/n/+c > (la/tonx/+c) (C) | x+1 dx 7 u=x2+2x dn=(2x+2) dx u = 3x + 2 dn = 3dxa) = 0x 3/n/u/+c = 3/n/3x+2/+c 23/ udu  $E \int \frac{z^2 + x + 1}{x^2 + 1} dx \qquad \frac{long \ division}{z^2 + 1} = \frac{long \ division}{z^2 + 1} = \frac{eqnol!}{z^2 + 1} dx$   $= \frac{x^2 + 1}{x^2 + 1} + \frac{x}{x + 1} + \frac{x}{x^2 + 1} \Rightarrow \int \left(1 + \frac{x}{x^2 + 1}\right) dx$   $= \frac{1}{x^2 + 1} + \frac{x}{x^2 + 1} + \frac{$ 

$$\frac{1}{2}\int_{1}^{2}\int_{1}^{2}\int_{1}^{2}dx = \frac{1}{2}\int_{1}^{1$$

n=x2+1 du= zxdn

In tegrals of Tonig. Funcs. Ssin u du=-cos u+c l'cos u du= sin u+c Iten u du = -ln/cosul+c Jcot u du = ln/sunn/+c Secu du=ln/secuttona/+c/coadu=-ln/coau+cota/+c Ex 10: 50 VI+tan2x dx -> Suzx dx -> [In/secx+tanx/] =[(ln/sec # + tan 1/4/) - (In/sec 0 + tan 0)] =[(ln(1/2+1/)-(ln(1+6))] = [ln/v2+1] Gn (43), remove x from "9" in denominator

5.3 Warm-up

(a)  $\int \frac{4x^2}{x^3-7} dx$   $u=x^3-7$   $du=3x^2 dx$   $\frac{3}{x^3-7} dx$   $u=x^3-7$   $du=3x^2 dx$ (6) 1 (csc(5x) dx = n=5x dn=5 dx In (csc (Sx) co 45w/ +C [-5 /n/csc (Sx) + cot (Sx) + c)

## 5,3 Invote Functions

Fats to nember

Switch  $\pi$  by of function  $\{f(x) = r(3,2)\}$   $\{f'(x) \Rightarrow (2,3)\}$ 

Graph is thosefore neflected over y=x (the origin)

and f'(f(x)) = x  $\begin{cases} f \circ g \end{cases}$  must do f'(f(x)) = x  $\begin{cases} g \circ f \end{cases}$ · How to find the inverse function

- Switch x & y - Solve for y

Ex 1: Prove invoises  $f(x) = 2x^{3} - 1$   $f'(x) = g(x) = \sqrt[3]{x+1}$ 

-2 (3/x+1) 5-1- 2 (x+1)-1- X/  $-2\sqrt[3]{(2x^3-1)+1} - 1 - 1 - 1/2 - 1 - 1/2 - 1 - 1/2 - 1 - 1/2 - 1/2 - 1 - 1/2 - 1$ 

. I & g are inverses of each other

The existence of on Invoise function The inverse is only a function if

(a) Must be "I to 1", only 1 x pery & 1 y per x B Strictly increasing/ decreasing

 $g'(x) = \overline{f'(g(x))} \quad f'(g(x) \neq 0$ 

 $f(\pi) = \chi^3 - \pi + 1$ 

E22: f(2)=x3+x-1

5.4 Defence his him & Integration of Exponential Funce.

Work—up 
$$f(x) = 4x^2 + 3x + 4$$
,  $(a=3) = 8$  tope of involve  $a+x=3$ 
 $\Rightarrow f'(x) = 10x^2 + 3$ 
 $f(1) = 3 \Rightarrow 3 = 4x^3 + 3x - 4$ 
 $\Rightarrow f'(3) = 1$ 
 $\Rightarrow f$ 

 $-\ln 7 = (x+1) \ln e - \ln 7 = (x+1)(1) = x+1$   $-(\ln 7) - 1 = x$ 

Sketching 
$$f(x) = e^{x}$$

The services of e functions

To domain  $(-\infty, \infty)$ , range  $(0, \infty)$ 

To Continuous, increasing, one-to-one

-> zx-3=e5

Ex2: Solve.

In(2x-3)=5

Derivative of e functions

$$1 - \frac{d}{d} = e^{x}$$

$$\frac{\partial}{\partial x} = \frac{\partial}{\partial x} = \frac{\partial}$$

$$z - \frac{d}{dx} \left[ e^{n} \right] = e^{n} \frac{dn}{dx} = e^{n} \cdot u$$

$$\int e^{x}$$

y= e2x-1 2y= e2x-1 dn ->

 $-2e^{3/x} \cdot \frac{3}{\chi^2} = \frac{3e^{3/x}}{\chi^2}$ 

By=e= = = -3×1 n= = =

$$e^{x}$$
] =  $e^{x}$ 

Derivative of e function
$$1 \frac{d}{dx} [e^{x}] = e^{x}$$

$$\lim_{x \to -\infty} e^x = 0$$

ezx-1.2 > 2ezx-1

$$\int_{-\infty}^{\infty} e^{-2e^{-2}} + e^{2e^{-2}} + e^{-2e^{-2}} + e^{-2e^{-2}} + e^{-2e^{-2}} + e^{-2e^{-$$

Exy: f(n)=xex = f(n)=xex+lex/

5 Di(-00,00) -> (-00,-1)(-1,00)

 $\rightarrow 0 = e^{\kappa}(\kappa + 1) = e^{\kappa} \neq 0$ ,  $\kappa + 1 = 0 = \kappa = -1$